
1

chplENCLOSE
Installation Instructions

	+ COMMERCIAL BATHROOM CUBICLE INSTALLER REQUIRED

	+ STRUCTURAL CORDINATION AND CALCULATION BY OTHER

	+ CARVART ASSIST WITH INSTALL AND CORDINATION

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

D-1

A-1

A

B

D

A-4

A-2

A-3

B-1

B-2

C
C-1

C-2

C-3



2

chplENCLOSE
Installation Guide

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

T O O L S  N E E D E D
Use other standard installation tools

DRILL
Use power tools for 
drilling into building 
structure.

SCREW DRIVER
Use hand tools only for 
all galss attachments

HEX KEY
Required metric tools

DOOR
1. ASSEMBLE DOOR COMPONENTS ON cHPL PANEL
2. USE STANDARD LATCH
3. SELECT PULL TYPE
4. INSERT GRAVITY BUTT HINGES FROM DOOR PANEL INTO

FIXED PILASTER PANEL

FIXED PILASTER PANEL
1. BACK FASTEN HEADER TO FIXED PILASTER PANEL
2. FASTEN TO DIVIDER PANEL
3. BACK FASTEN SUPPORT LEGS AND MOUNT TO FLOOR

DIVIDER
4. INSTALL T-CONNECTION TO FIXED DIVIDER
5. INSTALL SUPPORT LEGS

HEADER
1. ATTACH TO FIXED TRANSOM
2. ATTACH TO FIXED FRONT PILASTERS

D-1

A-1

A

B

D

A-4

A-2

A-3

B-1

B-2

C
C-1

C-2

C-3

NOTE: Letters corespond to components labeled on the 
'TYPICAL COMPONENTS' diagram.

A.	Door
Material: cHPL

• 9/16" Compact High Pressure Laminate
• Specify Color & Pattern

A-1	 Gravity Butt Hinge
A-2	 Pull Options

• Round Pull
• Rectangle Pull
• ADA Rectangle Pull
• Ladder Pull
• Back to Back Ladder Pull

A-3	 Lever Latch
A-4	 Fixed Transom

B.	Fixed Pilaster Panel
Material: cHPL

• 9/16" Compact High Pressure Laminate
• Specify Color & Pattern

B-1	 Back Fastened Support Leg - Clearnce Options:
• 3" Floor Clearance
• 9" Floor Clearance
• 12" Floor Clearance

B-2	 Rabbeted Door Jamb with Bulb Gasket

C.	Divider
Material: cHPL

• 9/16" Compact High Pressure Laminate
• Specify Color & Pattern

C-1	 Full Height Vertical Profile
C-2	 Clamp Support Leg - Clearnce Options:

• 3" Floor Clearance
• 9" Floor Clearnce
• 12" Floor Clearnce

C-3	 T-Connection (to Fixed Pilaster Panel)

D.	Stabilizing Header
Material: Double Anodized Aluminum

• Standard Finish: Satin Anodized Aluminum
• Specify Color & Pattern

D-1	 Wall Mounted Stabilizing Connection
D-2	 LED Privacy Indicator (Optional)

COMPONENTS



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 1
I N S P E C T  C R AT E  C O N T E N T 

F O R  A N Y  D A M A G E  F R O M 

S H I P P I N G .

D O  N O T  P R O C E E D  W I T H O U T 

T H O R O U G H  I N S P E C T I O N  O F 

M AT E R I A L .

C H E C K  S H O P  D R AW I N G S

C H E C K  F I E L D  D I M E N S I O N S

C H E C K  T O O L S

C H E C K  E Q U I P M E N T

STEP 2
M E A S U R E  A N D M A R K

A N C H O R I N G  S P O T S

1

2

*

*



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 3
D R I L L  H O L E

I N S E R T  A N C H O R

FA S T E N  C H A N N E L  T O  WA L L 

W I T H  S C R E W

A LT E R N AT E :  W O O D  S C R E W S /

S H E E T  M E TA L  S C R E W  C A N 

B E  U S E D  D E P E N D I N G  O N  T H E 

B L O C K I N G  T Y P E  P R O V I D E D 

B Y  C O N T R A C T O R .  A LT E R N AT E 

T Y P E  O F  S C E W S  A R E  N O T 

P R O V I D E D  B Y  C A R VA R T

STEP 4
M A K E  S U R E  A L L  D I V I D E R 

C H A N N E L S  A R E  L E V E L

R E F E R  T O  S H O P 

D R AW I N G S  F O R  B L O C K I N G 

R E Q U I R E M E N T S .

3

4



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 5
S C R E W  A N D  FA S T E N  S U P P O R T 

L E G  T O  D I V I D E R  PA N E L .

D O  N O T  A N C H O R  T H E  F L O O R 

S U P P O R T  L E G  I N T O  T H E 

F L O O R  U N I T L  T H E  E N D .

T H E  D I V I D E R  W I L L  S L O T  I N T O  

T H E S E  C O N N E C T I O N S .

STEP 6
I N S E R T  C O N N E C T E D  D I V I D E R 

A N D  P I L A S T E R  I N T O  T H E 

M O U N T E D  D I V I D E R  C H A N N E L .

D O  N O T  A N C H O R  T H E  F L O O R 

S U P P O R T  L E G  I N T O  T H E 

F L O O R  U N I T L  T H E  L AT E R 

S T E P.

E N S U R E  D I V I D E R  I S  L E V E L .

1

1

STANDARD

4mm

30
m

m
1 

3/
16

”

30
m

m
1 

3/
16

”

STANDARD

3,5x16
ø3,2



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 7
I N S E R T  C O N N E C T E D  D I V I D E R 

A N D  P I L A S T E R  I N T O  T H E 

M O U N T E D  D I V I D E R  C H A N N E L .

STEP 8
I N S E R T  P I L A S T E R 

I N T O  D I V I D E R  U S I N G 

T- C O N N E C T I O N .

T H E  D I V I D E R  W I L L  S L O T  I N T O  

T H E S E  C O N N E C T I O N S .

M6x12



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 9
I N S E R T  P I L A S T E R 

I N T O  D I V I D E R  U S I N G 

T- C O N N E C T I O N .

T H E  D I V I D E R  W I L L  S L O T  I N T O  

T H E S E  C O N N E C T I O N S .

S C R E W  T O G E T H E R  W I T H 

FA S T E N E R S .

STEP 10
E N S U R E  F I X E D  F R O N T 

P I L A S T E R  I S  L E V E L .

M5x10



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 11
FA S T E N  L  C A H N N E L  T O  WA L L .

STEP 12
B A C K  FA S T E N  S U P P O R T  L E G 

T O  F R O N T  P I L A S T E R  PA N E L .

A L I G N  T O  D O O R  A N D  WA L L  L - 

C H A N N E L .

=
W

4,8x38
ø8

M
6x
20



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 13
FA S T E N  F I X E D  F R O N T 

P I L A S T E R  T O  WA L L  C H A N N E L .

STEP 14
A P P LY  V H B  TA P E  T H AT  I S 

M A N U FA C T U R E R E  A P P R O V E D .

5,5x16

Ø5



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 15
	+ F O R  C O R N E R S  W H E R E 

F I X E D  F R O N T  P I L A S T E R 

M E E T S  D I V I D E R ,  I N S TA L L 

L - B R A C K E T  C O R N E R 

P R O F I L E .

	+ AT TA C H  B A C K  FA S T E N E D 

S U P P O R T  L E G S  A F T E R .

STEP 16
P O S I T I O N  T H E  C O M B I N E D 

D I V I D E R  PA N E L  A N D  F I X E D 

F R O N T  P I L A S T E R  I N T O  T H E 

WA L L  C H A N N E L .

M6x10

3,5
x16

ø3,
2



2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 17
FA S T E N  H E A D E R  T O  B A C K  O F 

F I X E D  T R A N S O M  PA N E L .

S L I D E  FA S C I A  FA S T E N I N G 

C O M P O N E N T  I N T O  B A C K  O F 

H E A D E R .  T Y P I C A L LY  2  P E R 

E A C H  O P E N I N G .

S N A P  O N  FA S C I A .

M6x20

28x2-3

M6x10



STEP 18
	+ FA S T E N  F I X E D  T R A N S O M 

W I T H  AT TA C H E D  H E A D E R 

T O  B A C K  O F  F I X E D 

P I L A S T E R  PA N E L .

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 19
	+ U S E  L - B R A C K E T  T O 

FA S T E N  H E A D E R  T O 

WA L L .

M6x20



STEP 20
	+ P L A C E  A S S E M B E L E D 

D O O R  PA N E L  O N T O 

F I X E D  F R O N T  P I L A S T E R 

PA N E L .

	+ I N S E R T  G R AV I T Y  H I N G E S 

O N  D O O R  PA N E L  T O 

G R AV I T Y  H I N G E S  O N 

F I X E D  F R O N T  P I L A S T E R 

PA N E L .

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 21
	+ E N S U R E  A L L 

C O M P O N E N T S  A R E 

L E V E L .



STEP 22
	+ P L A C E  D O O R  T O  F L O O R

	+ M A K E  H E I G H T 

A D J U S T M E N T S

	+ M A K E  L AT E R A L 

A D J U S T E M N T S  T O  B A S E 

P L AT E

	+ O N LY  O N C E  YO U  A R E 

S AT I S F I E D  W I T H 

A D J U S T M E N T S  D O  YO U 

P R O C E E D  T O  FA S T E N 

T H E  S U P P O R T  T O  T H E 

F L O O R .

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 23
	+ M A K E  A D J U S T M E T  T O 

H O L D  O P E N  W I T H  S C R E W 

D R I V E R .

	+ A D J U S T  S O  D O O R  I S 

S L I G H T LY  O P E N  W I T H 

C L O S E D .

4 ,8x38
ø6



STEP 24
	+ L E D  P R I VA C Y  I N D I C AT O R 

U S E S  L O W  V O LTA G E 

W I R I N G

	+ W I R E S  A R E  F E D 

T H R O U G H  T H E  S U P P O R T 

H E A D E R

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

12V~ 12V~

12V~

12V~

12V~

OPTIONAL



STEP 25
	+ E N S U R E  W H E N  L AT C H 

I S  C L O S E D  I N D I C AT O R 

C H A N G E S  C O L O R

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 26
	+ I N S TA L L  J A M B  O N T O 

F I X E D  F R O N T  P I L A S T E R .

M6X16

M6X35



1 7

23

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 27
	+ D O U B L E  C H E C K  YO U 

H AV E  A L L  L AT C H 

C O M P O N E N T S  A N D 

T O O L S

STEP 28
	+ I N S E R T  C I R C U L A R  C A P 

A N D  P L A C E  I N T O  P i l a s t e r 

P P L AT E .



1 8

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 29
	+ A S S E M B L E  S E L E C T E D 

D O O R  H A R D WA R E  O N 

D O O R  PA N E L

STEP 30
	+ A S S E M B L E  S E L E C T E D 

D O O R  H A R D WA R E  O N 

D O O R  PA N E L



1 9

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 31
	+ A S S E M B L E  S E L E C T E D 

D O O R  H A R D WA R E  O N 

D O O R  PA N E L

STEP 32
	+ A S S E M B L E  S E L E C T E D 

D O O R  H A R D WA R E  O N 

D O O R  PA N E L

COLOUR GLASS 24

8

10

9

11



20

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

INSTALLATION INSTRUCTIONS

N O T E S
Check all drawings 

STEP 33
	+ A S S E M B L E  S E L E C T E D 

D O O R  H A R D WA R E  O N 

D O O R  PA N E L

STEP 34
	+ A S S E M B L E  S E L E C T E D 

D O O R  H A R D WA R E  O N 

D O O R  PA N E L

COLOUR GLASS 25

12

13



2 1

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

PRE-APPROVED 3RD PARTY ACCESSORIES

N O T E S
Check all drawings 

EXAMPLE 1
	+ A S S E M B L E  P R E -

A P P R O V E D  3 R D  PA R T Y 

A C C E S S O R Y. 

SCREWF ILLISTER HEAD M6x10I SO7045

ROSETTA0 25/32i n

ROLL

FEMALE SCREW0 25/32i n

ROSETTA0 25/32
BOBRICKB -2888

GLASS 02 5/64 in (10 mm)3M VHB4 9413 0x30

SOLUTION-A



2 2

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

PRE-APPROVED 3RD PARTY ACCESSORIES

N O T E S
Check all drawings 

EXAMPLE 2
	+ A S S E M B L E  P R E -

A P P R O V E D  3 R D  PA R T Y 

A C C E S S O R Y.

COLOUR GLASS 21

GLASS02 5/64 in (10m m)

70

40

57

7

THEO PPOSITES IDEO FT HE DIVISION

GRAB-BAR SOLUTION



2 3

2 0 2 0  ©  C A R VA R T I N F O @ C A R VA R T. C O M 2 1 2 . 6 7 5 . 0 0 3 0

I N S TA L L AT I O N  I N S T R U C T I O N S  >  c h p l E N C L O S E C A R VA R T. C O M

PRE-APPROVED 3RD PARTY ACCESSORIES

N O T E S
Check all drawings 

EXAMPLE 3
	+ A S S E M B L E  P R E -

A P P R O V E D  3 R D  PA R T Y 

A C C E S S O R Y.

COLOUR GLASS 2 0

SOLUTION-E

j m d r r ? e q n l ?
b d r r nq x

WATCH THE ACCESSORY INSTRUCTIONS FOR THE DIMENSIONS

Rosetta

rbqdv?vhsg?b‘qd
MAXIMUM ALLOWED SCREW PENETRATION 5/32IN (4mm), 
DON’T USE ELECTRIC SCREWDRIVERS.

v‘ qmhmf@@@@@@

threaded inserts 

A-A ( 1 : 4 )

B

thre
threaded inserts M

5

s g h b j m d r r ? e q n l ?
‘ b b d r r n qx

v ‘qmhm


